South Korea



Please name the ISSP module which the documentation refers to (e.g., “Health and Health

Care / ISSP2011"):

Religion IV / I1ISSP2018

Please name your country:

| South Korea

SEX - Sex of respondent

National Language

English Translation

Questionno. | # 52.1.2 0| 22 XU

#52.1.2 Is [Person}'male or female?

and text ofL|™ of X}l L|7}?
Codes/ 1. Xt 1. Male
Categories | 2. o{ X} 2. Female
-8. 2=t -8, Don‘t.know
Interviewer | — -
Instruction
Translation | -
Note
Note -
Construction/Recoding:
Country Variable Codes (in.translation) + SEX
If (#52.1.2=1) 1. Male
If (#52.1.2=2) 2. Female
If (#52.1.2=-8) 9. No answer
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BIRTH - Year of birth

This question can be asked as an alternative to asking about AGE. If BIRTH is not asked
directly, it must be computed by DATEYR ‘year of interview' minus AGE ‘age of

respondent’.
National Language English Translation

Questionno. | #52.1.3 0| 22| L}o|l= Tto =z #52.1.3 How old is [Person]?
and text o ML 7h?

Codes/ 18. 18A| 18. 18 years old

Categories 97. 97A 97. 97 years old

-8. 2=t -8. Don't know

Interviewer | - -

Instruction

Translation | -

Note

Note -

Construction/Recoding: (list lowest, highest, and ‘'missing’ codes only, replace terms in

[square brackets] with real numbers)

Country Variable Codes/€onstruction Rules

* BIRTH

Construction

Codes

If (#52.1.:3=97)

[1921]

If (#52.1.3=18)

[2000]

If (#52,1.3=-8)

9999. No answer

Optional: Recoding Syntax

| compute birth=2018-age.-.

Documentation for ISSP background variables, ISSP 2018 onwards © GESIS



AGE - Age of respondent

This question can be asked as an alternative to asking about BIRTH. If AGE is not asked
directly, it must be computed by DATEYR "year of interview' minus BIRTH “year of birth'.

National Language English Translation

Questionno. | #52.1.3 0| &2 Ljol= e =z ,
and text o Aol 712 #52.1.3 How old is [Person]?
Codes/ 18. 184l 18. 18 years old
Categories | 97, 974 97. 97 years old

-8. Z=Zct -8. Don't know
Interviewer | - -
Instruction
Translation | -
Note
Note -

Construction/Recoding: (list lowest, highest, and ‘missing’ codes only, replace terms in

[square brackets] with real numbers)

Country Variable Codes/Construction Rules

- AGE

Construction

Codes

If (#52.1.3=18)

[18]

If (#52.1.3=97)

[97]

If (#52.1.3=-8)

999. No answer

Optional: Recoding Syntax
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EDUCYRS - Education I: years of schooling

National Language

English Translation

Question no. | #54 F|st= =tWE OfC|7HX| #54 What is the highest level of school
and text Ch AL &L 77472 you have attended?
Codes/ 0. &=t 0. No schooling
Categories | { =EZ(=ol)stm 1. Elementary school
2. =stu 2. Junior high school
3. 155t 3. High school
4. M2CYsr (2.3 H)) 4. Junior college (2 or 3 years course)
5. th&w (44H) 5.University (4 years coursg)
6. CHSHR (AMALDFAN) 6. Graduate school (masters)
7. sk (ErALDEA) 7. Graduate school (phd)
8. ME, stst 8. Seodang, Hanhak
-8. 2=t -8. Don't know
Questionno. | #54.1 #Hst= o] S #54.1 Did you graduate from this
and text ZEASHA S L I? school, or are you currently attending?
Codes/ 1. EHIUCH 1. Graduated
Categories | o =E|3lC} 2. Dropped out
3. M=k Fo|ct 3. Currently attending
-8. 2= -8, Don't know
—1. d|sl| & -1. Not applicable
Questionno. | #54.2 = =HA off #54.2 In what grade did you drop out?
and text Z=E| s S U2
Codes/ 1. 1sh4 1. 1* grade
Categories | o osfid 2. 2" grade
3. 354 3. 3% grade
4. 43H4 4. 4" grade
5 55t 5. 5" grade
665k 6. 6" grade
-8. =H=7ct -8. Don't know
—1. d|sl| & -1. Not applicable
Question no. 4 #54.3 XN U sHA UL 7}? #54.3 What grade are you in?
and text
Codes/ 1. 184 1. 1% grade
Categories<” | 5 o3t 2. 2" grade
3. 35h4 3. 3" grade
4. 45H4 4. 4" grade
5. 554 5. 5" grade
6. 63H4 6. 6™ grade
-8. 2=t -8. Don't know
-1, Bl & -1. Not applicable
Interviewer | — -
Instruction
Translation | -
Note
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Note

Filter Variable(s) and Conditions:

#54 Ask all
#54.1 To be answered by those who have attended formal school (Codes 1-7 in #54)
#54.2 To be answered by those who had dropped out (code 2 in #54.1)

#54.3 To be answered by those who are currently attending (code 3 in #54.1)

Country Variable Codes/Construction Rules - EDUCYRS
If (#54=0 or #54=8) 0. No formal schooling, no years at
school
If (#54=1 and #54.1=2 and #54.2=1) or (#54=1 and 1. One year
#54.1=3 and #54.3=1)
If (#54=-8 or #54.1=-8 or #54.2=-8 or #54.3=-8) 98 Don‘tknow

99. No.answer

Optional: Recoding Syntax

if (educ=0 or educ=8) educyrs=0.

if (educ=1 and graduate=1) educyrs=6.

if (educ=1 and graduate=2 and dropyr>=1) educyrs=dropyr.

if (educ=1 and graduate=3 and curryr>=1) educyrs=curryr.

if (educ=2 and graduate=1) edueyrs=9.

if (educ=2 and graduate=2-and dropyr>=1) educyrs=6+dropyr.
if (educ=2 and graduate=3 and curryr>=1) educyrs=6+curryr.
if (educ=3 and graduate=1) educyrs=12.

if (educ=3 and graduate=2 and dropyr>=1) educyrs=9+dropyr.
if (educ=3 and graduate=3 and curryr>=1) educyrs=9+curryr.
if (educ=4.and graduate=1) educyrs=14.

if (educ=4 and graduate=2 and dropyr>=1) educyrs=12+dropyr.
if (edue=4"and graduate=3 and curryr>=1) educyrs=12+curryr.
if (educ=5'and graduate=1) educyrs=16.

if (educ=>5 and graduate=2 and dropyr>=1) educyrs=12+dropyr.
if(educ=>5 and graduate=3 and curryr>=1) educyrs=12+curryr.
if (educ=6 and graduate=1) educyrs=18.

if (educ=6 and graduate=2 and dropyr>=1) educyrs=16+dropyr.
if (educ=6 and graduate=3 and curryr>=1) educyrs=16+curryr.
if (educ=7 and graduate=1) educyrs=22.

if (educ=7 and graduate=2 and dropyr>=1) educyrs=18+dropyr.
if (educ=7 and graduate=3 and curryr>=1) educyrs=18+curryr.
if (educ=-8 or graduate=-8 or dropyr=-8 or curryr=-8) educyrs=98.
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nat_ DEGR - Country-specific highest completed degree of education

National Language

English Translation

Question no. | #54 H|5t= W E O{C| X

#54 What is the highest level of school

and text Ch AL &L 77472 you have attended?
Codes/ 0. &=t 0. No schooling
Categories | { =EZ(=ol)stm 1. Elementary school
2. st 2. Junior high school
CE=S-13m} 3. High school
4. MEOyst (2.34H) 4. Junior college (2 or 3 years course)
5. th&w (44H) 5.University (4 years coursg)
6. CHstal (MATHY) 6. Graduate school (masters)
7. Cisk@l (BRALTEY) 7. Graduate school (phd)
8. ME, stst 8. Seodang, Hanhak
-8. ==t -8. Don't know
Questionno. | #54.1 #Hst= o] S #54.1 Did you graduate from this
and text ZEASHA S L I? school, or are you currently attending?
Codes/ 1. EHIUCH 1. Graduated

Categories | o =g|3lC}

2. Dropped out

3. =t Solct

3. Currently attending

-8. =27ict

-8»Don’t know

—-1. H|sHE

-1. Not applicable

Interviewer -
Instruction

Translation -
Note

Note -

Filter Variable(s) and Conditions:

#54 Ask all

#54.1 To be answered by those who have attended formal school (Codes 1-7 in #54)

Construction/Recoding:

CountryVariable Codes/Construction Rules

- nat_DEGR

If (#54=0.0r#54=8)

1. No formal schooling, Seodang,
Hanhak (old style non-formal
education)

If #54=1 and (#54.1=2 or #54.1=3))

2. Elementary incompleted

If (#54=1 and #54.1=1)

. Elementary completed

If (#54=2 and (#54.1=2 or #54.1=3))

. Middle school incompleted

If (#54=2 and #54.1=1)

. Middle school completed

If (#54=3 and (#54.1=2 or #54.1=3))

. High school incompleted

If (#54=3 and #54.1=1)

. High school completed

If (#54=4 and (#54.1=2 or #54.1=3))

. Junior college incompleted

If (#54=4 and #54.1=1)

OO NOOOA~W

. Junior college completed

If (#54=5 and (#54.1=2 or #54.1=3))

10. University incompleted

If (#54=5 and #54.1=1)

11. University completed
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If (#54=6 and (#54.1=2 or #54.1=3)) 12. Master degree incompleted

If (#54=6 and #54.1=1) 13. Master degree completed

If (#54=7 and (#54.1=2 or #54.1=3)) 14. Doctoral degree incompleted

If (#54=7 and #54.1=1) 15. Doctoral degree, PhD completed
If (#54=-8 or #54.1=-8) 99. No answer

Optional: Recoding Syntax

if (educ=0 or educ=8) kr_degr=1.

if (educ=1 and (graduate=2 or graduate=3)) kr_degr=2.
if (educ=1 and graduate=1) kr_degr=3.

if (educ=2 and (graduate=2 or graduate=3)) kr_degr=4.
if (educ=2 and graduate=1) kr_degr=5.

if (educ=3 and (graduate=2 or graduate=3)) kr_degr=6.
if (educ=3 and graduate=1) kr_degr=7.

if (educ=4 and (graduate=2 or graduate=3)) kr_degr=8.
if (educ=4 and graduate=1) kr_degr=9.

if (educ=5 and (graduate=2 or graduate=3)) kr_degr=10.
if (educ=5 and graduate=1) kr_degr=11.

if (educ=6 and (graduate=2 or graduate=3)) kr_degr=12.
if (educ=6 and graduate=1) kr_degr=13.

if (educ=7 and (graduate=2 or graduate=3)) kr_degr=14.
if (educ=7 and graduate=1) kr_degr=15.

if (educ=-8 or graduate=-8) kr_degr=99.
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DEGREE - R: Education II:

categories

National Language English Translation

Question no. | #54 Fst= St E O{C|7}X| #54 What is the highest level of school

and text Ch AL &L 774? you have attended?

Codes/ 0. &3 0. No schooling

Categories | 1. x==(=vl)stm 1. Elementary school
2. &5t 2. Junior high school
3. 1sstu 3. High school
4. MEBrO|st (234K 4. Junior college (2 or 3 years ¢course)
5. tietw (44H) 5.University (4 years course)
6. CHEM (MAtzREE 6. Graduate school (masters)
7. CHER (HfAtzbE 7. Graduate school (phd)
8. ME, Btst 8. Seodang, Hanhak
-8. E=2JC -8. Don't know

Interviewer | - -

Instruction

Translation | -

Note

Note -

Filter Variable(s) and Conditions:
Construction/Recoding:
Country Variable Codes/Construction Rules * DEGREE

If (#54=0 or #54=8)

0. No formal education

If (#54=1) 1. Primary school

If (#54=2) 2. Lower secondary (secondary
completed does not allow entry to
university: obligatory school)

If (#54=3) 3. Upper secondary (programs that
allow entry to university)

If (#54=4) 4. Post secondary, non-tertiary (other
upper secondary programs toward
labour market or technical formation)

If(#54=5) 5. Lower level tertiary, first stage (also

technical schools at a tertiary level)

I (#54=6 or #54=T)

6. Upper level tertiary (Master, Dr.)

If (#54=-8)

9. No answer

Optional: Recoding Syntax

| recode educ (0,8=0)(6,7=6)(-8=9)(else=copy) into degree.
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WORK - Currently, formerly, or never in paid work

National Language English Translation

Questionno. | #58 &KX Fst= £ 0| A= #58 Do you have a job that provides
and text ele st AHALaE? income?
Codes/ 1. 2FEcCk 1. Yes
Categories | o ofL|c} 2.No

-8. 2= -8. Don't know
Questionno. | #58.18 ¢ U= &2 HEA #58.18 Have you ever had a paid_job?
and text Zelol Aoyt
Codes/ 1. Aot 1. Yes
Categories | o girc} 2. No

-8. 22ACh -8. Don't know

—1. d|sHEt -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

#58 Ask all

#58.18 To be answered by those who_are not currently working (code 2 in #58)

Construction/Recoding:

Country Variable Codes/Construction Rules

* WORK

If (#58=1)

1. Currently in paid work

If (#58=2 and #58.18=1)

2. Currently not in paid work, paid work

in the past

If (#58=2 and #58.18=2)

3. Never had a paid work

If (#58=-8 and #58.18=-8)

9. No answer

Optional: Recoding Syntax

if.(incmr=1) work=1.

if (inemr=2 and unwkex=1) work=2.
if (incmr=2 and unwkex=2) work=3.
if.(incmr=-8 or unwkex=-8) work=9.
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WRKHRS - Hours worked weekly

National Language

English Translation

Question no. | #58.4 LFol| W U A|ZE #58.4 How many hours a week do you
and text ol AL 77}? usually work?
Codes/ AlZ} Hours
Categories | .. m=zic} -8. Don't know
-1. H|sl|l & -1. Not applicable
Questionno. | #58.11 YL Fof W = AlZt #58.11 How many hours a week do you
and text ol AL 77}? usually work?
Codes/ AlZ} Hours
Categories | —g. == c} -8. Don't know
—-1. || & -1. Not applicable
Interviewer - -
Instruction
Translation -
Note
Note -

Filter Variable(s) and Conditions:

#58.4 To be answered by those who are currently employed (code 1 in WORK)
#58.11 To be answered by those who are currentlyself-employed (code 1 in WORK)

Country Variable Codes/Construction Rules

* WRKHRS

If (WORK=1) and (#58.4=1 or #58.11=1))

1. One hour

If (WORK=1) and (#58/45=96 or#58.11>=96)

96. 96 hours or more

If (WORK=1) and (#58.4=-8 or #58.11=-8))

98. Don't know

If (WORK=1) and (#58.4=-1"and #58.11=-1)) or

(WORK=9)

99. No answer

If (WORK=2or WORKZ3)

00. NAP (Code 2 or 3 in WORK)

Optionali'Recoding Syntax

it (work=1/and (wgwkhr>0 and wgwkhr<96)) wrkhrs=wgwkhr.
iIf(work=1 and (sfwkhr>0 and sfwkhr<96)) wrkhrs=sfwkhr.

if (work=1 and wgwkhr>=96) wrkhrs=96.
if (work=1 and sfwkhr>=96) wrkhrs=96.
if (work=1 and (wgwkhr=-8 or sfwkhr=-8)) wrkhrs=98.
if (work=1 and (wgwkhr=-1 and sfwkhr=-1)) wrkhrs=99.
if (work=9) wrkhrs=99.

if (work=2 or work=3) wrkhrs=0.
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EMPREL - Employment relationship

National Language

English Translation

Question no. | #58.1 7ol 2lsl 1= #58.1 Do you work for someone else?
and text AL L7}
Codes/ 1. =} 1. Yes
Categories | o ofL|c} 2.No
-8. 2=t -8. Don't know
—1. H|sHE -1. Not applicable
Questionno. | #58.9 &% 0{ YX| &LrCtH #58.9 Are you working for the family,
and text BIIEZARRIL L, 129 self-employed with no employees, or
glo| xtedele Ayt mees | self-employed with employees?
T AHEE SHUAL?
Codes/ 1. 2275 S AR 1. Working for the family
Categories 2. 1220| gle XILXt 2. Self-employed with_no employees
3. 1S & AIEF 3. Self-employed'with employees
-8. 222t -8. Dont know
—1. H|| & -1. Not applicable
Questionno. | #58.9.1 (LS & At Fa2tH) #568.9.1, (if self-employed  with
and text W e 1250 USL R employees) How many employees do
you employ?
Codes/ =E} Person
Categories | - w27t} -8. Don't know
-1 vl -1. Not applicable
Question no. | #58.19 7% =|Z0f o A= #58.19 What type of job did you have at
and text sH &L 7t? that time?
Codes/ 1. MEo| mlm9l 1. Worked for government
Categories 2. 27|4e| umeQl 2. Worked for publicly owned firm
3. A7l o ag el 3. Worked for private firm
4 5U7|gte nngel 4. Worked for non-profit organization
5. F 2753 At 5. Worked for the family
6. 23@0| gle AFAX} 6. Self-employed with no Employees
7. 1E/E F AIEF 7. Self-employed with employees
-8. 22ch -8. Don't know
-1. H|&H & -1. Not applicable
Question no. | #58.19.1 (222 = At ZF2} | #58.19.1 How many employees did you
and text o) @ @¥ES PR UASL? employ?
Codes/ o] person
Categories -8. Rt} -8. Don't know
—-1. Hlai g -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -
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Filter Variable(s) and Conditions:

#58.1 To be answered by those who are in current paid work (code 1 in #58)

#58.9 To be answered by those who are currently self-employed (code 2 in #58.1)
#58.9.1 To be answered by those who are currently self-employed with employees
(code 3in 58.9)

#58.19 To be answered by those who have had a paid work (code 2 in WORK)
#58.19.1 To be answered by those who have worked self-employed with employees
(code 7 in #58.19)

Country Variable Codes/Construction Rules * EMPREL
If (WORK=1 and #58.1=1) or (WORK=2 and 1. Employee
(#58.19>=1 and #58.19<=4))
If (WORK=1 and #58.9=2) or (WORK=2 and 2. Self-employed without employees
#58.19=6)
If (WORK=1 and #58.9=3 and (#58.9.1<=9 and 3. Self-employed'with 1-9 employees

(#58.9.1>=1)) or (WORK=2 and #58.19=7(#58.19.1<=9
and #58.19.1>=1))

If (WORK=1 and #58.9=3 and #58.9.1>=10) or 4. Self-employed with 10 employees or
(WORK=2 and #58.19=7 #58.19.1>=10) more
If (WORK=1 and #58.9=1) or (WORK=2 and 5. Working for own family’s business

#58.19=5)

If (WORK=1 and #58.1=-8) or (WORK=1 and #53.9=- ['9. NoO answer
8) or (WORK=2 and #53.19=-8) or (WORK=9)

If (WORK=3) 0. NAP (Code 3 in WORK)

Optional: Recoding Syntax

if (work=1 and emped=1) emprel=1.

if (work=2 and (unstat>=21 and unstat<=4)) emprel=1.

if (work=1 and sfstat=2) emprel=2.

if (work=2 and unstat=6),emprel=2.

if (work=1 and sfstat=3 and (sfnohi>=1 and sfnohi<=9)) emprel=3.
if (work=2 and unstat=7.and (unnohi>=1 and unnohi<=9)) emprel=3.
if (work=1 and sfstat=3;and sfnohi>9) emprel=4.

if (work=2and unstat=7 and unnohi>9) emprel=4.

if (work=1 and sfstat=1) emprel=5.

if (work=2 and unstat=5) emprel=5.

if((work=1 and sfstat=3 and sfnohi=-8) emprel=9.

if (work=2"and unstat=7 and unnohi=-8) emprel=9.

if (work=1 and emped=-8) emprel=9.

if(work=1 and sfstat=-8) emprel=9.

if (work=2 and unstat=-8) emprel=9.

if (work=9) emprel=9.

if (work=3) emprel=0.
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WRKSUP - Supervise other employees

National Language

English Translation

Question no. | #58.13.1 | st7F Y FollM 22|, #58.13.1 How many subordinates do
and text Z=sH= 251&2lo] @ gdelL|y? | you have in your workplace whom you
manage and supervise?
Codes/ RE persons
Categories | g mzZict -8. Don't know
N = -1. Not applicable
Question no. #58 13.2 357t 5o EH #58.13.2 Do you have a subordinate at
and text 2|, HEst= 251E20| your workplace for whom you are
&L 712 directly responsible?
Codes/ 1. UCt 1. Yes
Categories 2. gict 2. No
8. 2= -8. Don't know
1. H|sH gt -1. Not applicable
Question no. | #58.20 11 &2 s = w st | #58.20 Did you have a subordinate at
and text AN me|, ZEst= £51 &l o| | yeurworkplace for whom you were
Q1o &1L 77 directly responsible?
Codes/ 1. AAPCH 1. Yes
Categories 2. iqict 2. No
8. 2=t -8. Don't know
—1. dH|sl|l & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

#58.13.1 To be answered'by those who are currently working (code 1 in WORK)
#58.13.2 To be answered by those who are currently working (code 1 in WORK)
#58.20 To'betanswered by those who are currently not working but had an experience
of ever.working for pay (code 2 in WORK)

Construction/Recoding:

Country Variable Codes/Construction Rules * WRKSUP
If (WORK=1 and (#58.13.1>0 or #58.13.2=1)) or 1. Yes
(WORK=2 and #58.20=1)
If (WORK=1 and #58.13.1=0) or (WORK=2 and 2. No
#58.20=2)
If (WORK=1 and #58.13.1=-8 and #58.13.2=-1) or 9. No answer

(WORK=1 and #58.13.1=-1 and #58.13.2=-1) or
(WORK=2 and #58.20=-8) or (WORK=9)

If (WORK=3)

0. NAP (Code 3 in WORK)
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Optional: Recoding Syntax

if (work=1 and ((numsup>0 and numsup<1000) or emsubo=1)) wrksup=1.
if (work=2 and unsubo=1) wrksup=1.

if (work=1 and numsup=0) wrksup=2.

if (work=2 and unsubo=2) wrksup=2.

if (work=1 and numsup=-8 and emsubo=-1) wrksup=9.

if (work=1 and numsup=-1 and emsubo=-1) wrksup=9.

if (work=2 and unsubo=-8) wrksup=9.

if (work=9) wrksup=9.

if (work=3) wrksup=0.
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NSUP — Number of other employees supervised

National Language English Translation

Question no. | #58.13.1 57} Y FollM &2, #58.13.1 How many subordinates do

and text ZSshs B5tx2o] » w@eluyt? | you have in your workplace whom you
manage and supervise?

Codes/ aE| persons

Categories | -g. == c} -8. Don't know

—1. d|sl|l & -1. Not applicable

Interviewer | - -

Instruction

Translation | -

Note

Note -

Filter Variable(s) and Conditions:

| Ask if WRKSUP=1, the respondent is responsible for supervising other employees

Construction/Recoding:

Country Variable Codes/Construction Rules

* NSUP

If (WRKSUP=1 and #58.13.1=1)

1. 1 employee

If (WRKSUP=1 and #58.13.1>=9995)

9995, 9995 employees or more

If (WRKSUP=1 and #58.20=1)

9998.Don’t know

If (WRKSUP=9)

9999. No answer

If (WRKSUP=2 or WRKSUP=0)

0000. NAP. (Code 2, 0 in WRKSUP)

Optional: Recoding.Syntax

if (wrksup=1 and (numsup>0 and numsup<9995)) nsup=numsup.
if (wrksup=1 and numsup>=9995) nsup=9995.
if (wrksup=1,and unsubo=1) nsup=9998.

if (wrksup=9) nsup=9999.

if (wrksup=2,0or wrksup=0) nsup=0.
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TYPORGL1 - Type of organisation, for-profit/non-profit

National Language English Translation
Questionno. | #58.6 #3tel & &2 HEF, #58.6 Are you employed by the
and text 27|, AP, 2V = government, a publicly owned firm, a
olc|oll sl a7 private firm, or a non-profit
organization?
Codes/ 1. 88 1. Government
Categories | o =Z7|¢d 2. Publicly owned firm
3. AP 3. Private firm
4. 27|z 4. Non-profit organization
-8. 227t -8. Don't know
-1. H|sl|l & -1. Not applicable
Questionno. | #58.9 &% 0| YX| &LrCtH #58.9 Are you working,for.the family,
and text BIIEZAR L, 129 self-employed with no employees, or
90| AFHUS sAlLF DRAS self-employed with employees?
T A E st H b
Codes/ 1. 22753 A 14 Working for the family
Categories 2. 1220 9= XAX} 2., Self-employed with no employees
3. 1228 £ AldE 3. Self-employed with employees
-8. 227t 8. Don't know
-1. H|sl|l & -1. Not applicable
Question no. | #58.19 7%+ =20l of&eh LS #58.19 What type of job did you have at
and text sH &L 77 that time?
Codes/ 1. 89| mngeol 1. Worked for government
Categories 2. 27| el 2. Worked for publicly owned firm
3. Ao aT 120l 3. Worked for private firm
4, Zol|zke|hm 1ge°l 4. Worked for non-profit organization
5. FE7ISSALAF 5. Worked for the family
6. =22l0| Q= XIHX} 6. Self-employed with no Employees
7225 AMHdF 7. Self-employed with employees
-8. ==t -8. Don't know
1. dH|sl| & -1. Not applicable
Interyiewer | - -
Instruction
Translation< | -
Note
Note -

Filter Variable(s) and Conditions:

Ask if WORK=1 or 2, respondent in current or past paid work
#58.1 Ask only those who are currently working (code 1 in WORK)
#58.9 To be answered by those who are currently self-employed (code 1 in WORK)

#58.19 To be answered by those who are currently not working but has ever worked for pay (code
2 in WORK)

Construction/Recoding:
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Country Variable Codes/Construction Rules * TYPORGI1

If (WORK=1 and (#58.6=2 or #58.6=3)) or (WORK=1 | 1. For-profit organization
and (#58.9=1 or #58.9=2 or #58.9=3)) or (WORK=2
and (#58.19=2 or #58.19=3 or #58.19=5 or #58.19=6 or
#58.19=7))

If (WORK=1 and (#58.6=1 or #58.6=4)) or (WORK=2 | 2. Non-profit organization
and (#58.19=1 or #58.19=4))

If (WORK=1 and #58.6=-8) or (WORK=1and #58.9=- | g Don't know
8) or (WORK=2 and #58.19=-8)

If (WORK=9) 9. No answer

If (WORK=3) 0. NAP (Code 3 in WORK)

Optional: Recoding Syntax

if (work=1 and (wgsect=2 or wgsect=3)) typorgl=1.

if (work=1 and (sfstat=1 or sfstat=2 or sfstat=3)) typorgl=1.
if (work=2 and (unstat=2 or unstat=3 or unstat=5 or unstat=6 or.unstat=7))
typorgl=1.

if (work=1 and (wgsect=1 or wgsect=4)) typorgl=2.

if (work=2 and (unstat=1 or unstat=4)) typorgl=2.

if (work=1 and wgsect=-8) typorgl=8.

if (work=1 and sfstat=-8) typorgl1=8.

if (work=2 and unstat=-8) typorgl=8.

if (work=9) typorgl=9.

if (work=3) typorg1=0.
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TYPORG2 - Type of organisation, public/private

National Language English Translation
Questionno. | #58.6 #3tel & &2 HEF, #58.6 Are you employed by the
and text 27|, AP, 2V = government, a publicly owned firm, a
olc|oll sl a7 private firm, or a non-profit
organization?
Codes/ 1. 88 1. Government
Categories | o =7|od 2. Publicly owned firm
3. AP 3. Private firm
4, 27|zt 4. Non-profit organization
-8. =27t -8. Don't know
—1. d|sl|l & -1. Not applicable
Questionno. | #58.9 &% 0| YX| &LrCtH #58.9 Are you working,forithe family,
and text BIIEZAR L, 129 self-employed with no employees, or
90| AFHUS sAlLF DRAS self-employed with employees?
T A E st H b
Codes/ 1. 22753 A 14 Working for the family
Categories 2. 1220| gl= XILXt 2, Self-employed with no employees
3. 1222 = AIHE 3. Self-employed with employees
-8. ==t 8. Don't know
—1. Hls{ & -1. Not applicable
Question no. | #58.19 7%+ =20l of&eh LS #58.19 What type of job did you have at
and text sH &L 77 that time?
Codes/ 1. 89| mngeol 1. Worked for government
Categories 2. 27| el 2. Worked for publicly owned firm
3. Ao aT 120l 3. Worked for private firm
4, Zol|zke|hm 1ge°l 4. Worked for non-profit organization
5. FE7ISSALAF 5. Worked for the family
6. =22l0| Q= XIHX} 6. Self-employed with no Employees
7225 AMHdF 7. Self-employed with employees
-8. ==t -8. Don't know
1. dH|sl| & -1. Not applicable
Interyiewer | - -
Instruction
Translation< | -
Note
Note -

Filter Variable(s) and Conditions:

Ask if WORK=1 or 2, respondent in current or past paid work
#58.1 Ask only those who are currently working (code 1 in WORK)
#58.9 To be answered by those who are currently self-employed (code 1 in WORK)

#58.19 To be answered by those who are currently not working but has ever worked for pay (code
2 in WORK)

Construction/Recoding:
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Country Variable Codes/Construction Rules * TYPORG2

If (WORK=1 and (#58.6=1 or #58.6=2)) or (WORK=2 | 1. Public employer
and (#58.19=1 or #58.19=2))

If (WORK=1 and (#58.6=3 or #58.6=4)) or (WORK=1 | 2. Private employer
and (#58.9=1 or #58.9=2 or #58.9=3)) or (WORK=2
and (#58.19=3 or #58.19=4 or #58.19=5 or #58.19=6 or
#58.19=7))

If (WORK=1 and #58.6=-8) or (WORK=1and #58.9=- | g Don't know
8) or (WORK=2 and #58.19=-8)

If (WORK=9) 9. No answer

If (WORK=3) 0. NAP (Code 3 in WORK)

Optional: Recoding Syntax

if (work=1 and (wgsect=1 or wgsect=2)) typorg2=1.

if (work=2 and (unstat=1 or unstat=2)) typorg2=1.

if (work=1 and (wgsect=3 or wgsect=4)) typorg2=2.

if (work=1 and (sfstat=1 or sfstat=2 or sfstat=3)) typorg2=2.
if (work=2 and (unstat=3 or unstat=4 or unstat=5 or,unstat=6 or unstat=7))
typorg2=2.

if (work=1 and wgsect=-8) typorg2=8.

if (work=1 and sfstat=-8) typorg2=8.

if (work=2 and unstat=-8) typorg2=8.

if (work=9) typorg2=9.

if (work=3) typorg2=0.
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ISCO08 - Occupation ISCO 2008

Please give the text of the source question(s) on the respondent’s occupation used in your

field questionnaire. If ISCO08-codes are not coded directly from the responses, but derived
from a country-specific occupation coding scheme, please provide a table of
correspondence between country-specific and ISCO08 codes attached as a separate file.
Also when you derive ISCO08 from another ISCO scheme, such as ISCO88, ISCO-COM
(a variant developed for the European Union (EU)), or ISCO88-CIS developed by the
Statistical Committee of the Commonwealth of Independent States, please document the
source code and provide a correspondence list.

Please do not enter standard ISCOOQ8 codes here, but report any deviations. However,
please note that country-specific codes, which are not part of the ISCO coding,scheme
cannot be accepted!

Occupations should be coded on the 4-digit level of ISCO08. Occupational area 0 (Armed
Forces occupations) needs some special attention. Since the ISCQ variable'is humeric, 4-
digit codes starting with zero, such as 0110 will usually appear<as 110 in‘the data file. It is
therefore suggested that the only valid 3-digit codes in the data file are"those armed forces
occupations 110, 210 and 310.

In some special cases information concerning the occupation may be insufficient for 4-

digit coding. Instead of coding these cases as [9998] “inadequately described” use 3-digit

coding. In those very special cases where 3-digit coding is applied, fill in a zero for the
missing digit. Example: code 131 is coded.as'1310.

National"k.anguage English Translation
Question no. #59 | St= oft Aol Al oftd #59 What kind of work do you normally
and text Z=2o| g glAly? x| Moz | do? What do you actually do in that
or s AN @7 51 2= spx| | Job? If currently not working, tell me
oral Rched) ofa xi3of g | Apoutyourlastjob
ofl [ CHolAl LZHoH FHAIL.
Codes/ 0110. (I8CO08 unit code) 0110. (1ISCO08 unit code)
Categories 8 m=7cC ;
deviating from 8. ==ac -8. Don't know
ISCQ08 -1. dl|si & -1. Not applicable
Interviewer - -
Instruction
Translation -
Note
Note -
Use of ISCO ISCO08 (ILO) .y
Please specify any other source code

Filter Variable(s) and Conditions:

Documentation for ISSP background variables, ISSP 2018 onwards © GESIS



25

#59 To be answered by those who are currently working or those who have ever
worked for pay (code 1 in #58 and code 1 in #58.18)

Construction/Recoding:

Country Variable Codes/

Construction Rules * 15C0O08
If (WORK=1 and #59=0110) or (WORK=2 and 0110. (ISCO08 unit codes)
#59=0110)
If (WORK=1 and #59=9629) or (WORK=2 and 9629. (ISCOO08 unit codes)
#59=9629)

If (WORK=1 and #59=-8) or (WORK:2 and #59='8) or 9998. Don't know: inadequately
(WORK-=1 and #59=-1) or (WORK=2 and#59=-1) :

described
If (WORK=9) 9999. No‘answer
If (WORK=3) 0000. NAP (Code 3'in WORK)

Optional: Recoding Syntax

if (work=1 and (occ08>=0110 and 0cc08<=9629)).isco08=0cc08.
if (work=2 and (occ08>=0110 and 0cc08<=9629)) isco08=occ08.
if (work=1 and occ08=-8) isco08=9998.

if (work=2 and occ08=-8) isco08=9998.

if (work=1 and occ08=-1) isco08=9998.

if (work=2 and occ08=-1) isco08=9998.

if (work=9) isco08=9999.

if (work=3) isco08=0000.
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MAINSTAT - Main status

National Language

English Translation

Questionno. | #52.1.7 &M FHsl= =&o| U= | #52.1.7 Do you have a job that provides
and text ele st AHALaE? income?
Codes/ 1. =} 1. Yes
Categories 2. ofC} 2. No
-8. 2=t -8. Don't know
—1. d|sl|l & -1. Not applicable

Questionno. | #52.1.8 (Y3t AKX
and text s

ol = FAYUYI?

|
P2 UAX| 2 THE

#52.1.8 (IF NOT WORKING) Whatiis
the primary reason for unemployment?

Codes/ 01. =tdo|E 01. Below school age
Categories | 02 =fj 5t 02. Schooling
03. ZtAb 03. Staying at home
04. =& 04. Old age
05. &4 05. lllness
06. AAIZHOf 06.:Disabled
07. LA FZ 07. Temporarily not working
08. A% 08. . Unemployed
09. 2E| 09. Retired
10. MAEZ] 10. Retired under the age limit
11. F =] 11. Preparing to begin work
12. 385 12. Doing study
13. =2l 13. In military service
14, At Al o) 14. Business failure
15, FHMZE ol = 15. Not intending to work
17. 31A 0o|& 17. For religious reasons
18. 7= =HE7| 95 18. To care for the family
1907 F| st 52 glojA] 19. No abiliy to get work
77. 7|El (B ) 77. OTHER (SPECIFY: )
-8. Z27c -8. Don't know
—1. d|s| & -1. Not applicable
Interviewer .- -
Instruction
Translations | -
Note
Note -

Filter Variable(s) and Conditions:

#52.1.7 Ask all

#52.1.8 To be answered by those who are currently not working (code 2 in #52.1.7)

Construction/Recoding:

Country Variable Codes/Construction Rules

* MAINSTAT
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If (#52.1.7=1)

1. In paid work

If (#52.1.8=8 or #52.1.8=11 or #52.1.8=14)

2. Unemployed and looking for a job

If (#52.1.8=2 or #52.1.8=12)

3. In education

4. Apprentice or trainee

If (#52.1.8=5 or #52.1.8=6)

5. Permanently sick or disabled

If (#52.1.8=9 or #52.1.8=10)

6. Retired

If (#52.1.8=3 or #52.1.8=18)

7. Domestic work

If (#52.1.8=13)

8. In compulsory military service or
community service

If (#52.1.8=4 or #52.1.8=7 or #52.1.8=15 or #52.1.8=17
or #52.1.8=19 or #52.1.8=77)

9. Other

If (#52.1.7=-8) or (#52.1.8=-8)

99. No answer

Optional: Recoding Syntax

if (emply=1) mainstat=1.

if (whynoe=8 or whynoe=11 or whynoe=14) mainstat=2.

if (whynoe=2 or whynoe=12) mainstat=3.
if (whynoe=5 or whynoe=6) mainstat=>5.
if (whynoe=9 or whynoe=10) mainstat=6.
if (whynoe=3 or whynoe=18) mainstat=7.
if (whynoe=13) mainstat=8.

if (whynoe=4 or whynoe=7 or whynoe=15 “or ‘whynoe=17 or whynoe=19 or

whynoe=77) mainstat=9.
if (emply=-8) mainstat=99.
if (whynoe=-8) mainstat=99.
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PARTLIV - Living in steady partnership

National Language English Translation
Questionno. | #52.2.5 0| &2 X3 FHol|A | #52.2.5 Is spouse living in your house,
and text S| At QUSLF? EEA| =of L} | oris spouse staying somewhere else?
M A3 JAFYI?
Codes/ 1. =7 1. Living together
Categories 2. H| = 2. Not living together
-8. 2=t -8. Don't know
—1. d|sl|l & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

| #52.2.5 To be answered by those who married respondent

Construction/Recoding:

Country Variable Codes/Construction Rules

* PARTLIV

If (#52.2.5=1) 1. Yes, have partner; live in same household

If (#52.2.5=2) 2. Yes, have partner; don't live in same
household

If (#52.2.5=-1) 3. No partner

- 7. Refused

If (#52.2.5=-8) 9. No answer

Optional: Recoding Syntax

if (#52.2.5=1) partliv=1.
if (#52.2.5=2) partliv=2.
if (#52.2:5=-1) partliv=3.
if (#52.2.5=28) partliv=9.
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SPWORK - Spouse, partner: currently, formerly or never in paid work

National Language English Translation

Questionno. | #60 X F5te| Hi X= £=2lo|  #60 Does your spouse have a job that
and text Q= ole Bl H AL e provides income?
Codes/ 1. =} 1. Yes
Categories | o ofL|c} 2.No

-8. 2=t -8. Don't know

—1. H|sHE -1. Not applicable
Questionno. | #60.16 H{ A= =< U= L= | #60.16 Has your spouse ever worked
and text S EA AEo| QoA p? for pay?
Codes/ 1. UCt 1. Yes
Categories 2. gich 2. No

-8. 227t -8. Don't knoWw

-1, H|sl & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

#60 Ask all
#60.16 To be answered by those who aren

ot currently working (code 2 in #60)

Construction/Recoding:

Country Variable Codes/Canstruction‘Rules

* SPWORK

If (PARTLIV=1 and #60=1) or (PARTLIV=2 and
#60=1)

1. Currently in paid work

If (PARTLIV=1 and #60=2"and #60.16=1) or
(PARTLIV=2 and #60=2 and #60.16=1)

2. Currently not in paid work, paid work in the
past

If (PARTLIV=1 and #60=2 and #60.16=2) or
(PARTLIV=2 and #60=2 and #60.16=2)

3. Never had paid work

If (PARTLIV=1 and #60=-8) or (PARTLIV=2
and*#60=-8) or (PARTLIV=1 and #60=2 and
#60.16=-8)=0r (PARTLIV=2 and #60=2 and
#60.16=-8) or (PARTLIV=9)

9. No answer

IF(PARTLIV=3) or (PARTLIV=7)

0. NAP (Code 3 or 7 in PARTLIV)

Optional: Recoding Syntax

if (partliv=1 and spincmr=1) spwork=1.
if (partliv=2 and spincmr=1) spwork=1.

if (partliv=2 and spincmr=2 and spunwke
if (partliv=1 and spincmr=2 and spunwke
if (partliv=2 and spincmr=2 and spunwke
if (partliv=1 and spincmr=-8) spwork=9.

if (partliv=1 and spincmr=2 and spunwkex=1) spwork=2.

x=1) spwork=2.
x=2) spwork=3.
X=2) spwork=3.
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if (partliv=2 and spincmr=-8) spwork=9.

if (partliv=1 and spincmr=2 and spunwkex=-8) spwork=9.
if (partliv=2 and spincmr=2 and spunwkex=-8) spwork=9.
if (partliv=9) spwork=9.

if (partliv=3) spwork=0.

if (partliv=7) spwork=0.
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SPWRKHRS - Spouse, partner: hours worked weekly

National Language

English Translation

Question no. | #60.4 Lol F E A7t

#60.4 How many hours a week does

and text A Y72 your spouse usually work?
Codes/ Al ZF hours
Categories -8 =0 -8 Don't know

—1. H|s} &t -1. Not applicable
Question no. | #60.10 LYol H E A|ZH #60.10 How many hours a week does
and text A Y72 your spouse usually work?
Question no. Al ZF hours
and text 8 EEAT -8 Don't know

—1. H|s} &t -1. Not applicable
Interviewer - -
Instruction
Translation -
Note
Note -

Filter Variable(s) and Conditions:

#60.4 To be answered by those who are currently employed (code 1 in spwork)
#60.10 To be answered by those who are currently self-employed (code 1 in spwork)

Construction/Recoding:

Country Variable Codes/Construction Rules

- SPWRKHRS

If (SPWORK=1) and (#60.4=1 or #60,10=1))

1.1 hour

If  ((SPWORK=1) and (#60.4>=96 or
#60.10>=96)

96. 96 hours or more

If (SPWORK=1) and (#60.4=-8 or #60.10=-8))

98. Don't know

If (SPWORK=1) and (#60.4=-1 and #60.10=-1))
or (SPWORK=9)

99. No answer

If  (SPWORK=0 or SPWORK=2 or
SPWORKE3)

00. NAP (Code 0, 2 or 3 in SPWORK)

Optional: Recoding Syntax

if (spwork=1 and (spwgwkhr>0 and spwgwkhr<96)) spwrkhrs=spwgwkhr.
if (spwork=1 and (spsfwkhr>0 and spsfwkhr<96)) spwrkhrs=spsfwkhr.

if (spwork=1 and spwgwkhr>=96) spwrkhrs=96.

if (spwork=1 and spsfwkhr>=96) spwrkhrs=96.

if (spwork=1 and (spwgwkhr=-8 or spsfwkhr=-8)) spwrkhrs=98.

if (spwork=1 and (spwgwkhr=-1 and spsfwkhr=-1)) spwrkhrs=99.

if (spwork=9) spwrkhrs=99.

if (spwork=0 or spwork=2 or spwork=3) spwrkhrs=00.
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SPEMPREL - Spouse, partner: employment relationship

National Language

English Translation

Question no. | #60.1 H| S Xt= S==7toll 2|sf 0 | #60.1 Does your spouse work for
and text 2= ASY 2 someone else?
Codes/ 1. =} 1. Yes
Categories 2. ofC} 2. No
uestion no.
aQnd text -8. 2=t -8. Don't know
—1. d|sl|l & -1. Not applicable
Questionno. | #60.8 &= 0| UX| Lctd 22 | #60.8 Is your spouse working forythe
and text JIESARIQIL 7L, 182 glo| X} | family,  self-employed #~with,_ no
dole sHAUp TS =1 employees, or self-employed with
ARlE ShU ke employees?
Codes/ 1. 2275 S AR 1. Working for the family
Categ_ories 2. 1220| gle XILXt 2. Self-employed with_no employees
Questionno. "3~ Hgols = Al 3. Self-employed'with employees
and text AL
-8. 222t -8. Don't know
—1. dH|sl|l & -1. Not applicable
Questionno. | #60.17 i Xt= 7% = 2o of «#60.17What type of job did your
and text o 2 S SLE? spouse’have at that time?
Codes/ 1. Mo 1129l 1."Worked for government
Categ_ories 2. 27|e| mjuxeol 2. Worked for publicly owned firm
QU(;?S'['O” NO. [ 3 Ap7|de| mmEel 3. Worked for private firm
‘ér; déz)/(t 4, Zoly|ae] njngeol 4. Worked for non-profit organization
Categories 5. BE27IES AR 5. Worked for the fa_mily
Questionno. | 6. XER0| = AFFAL 6. Self-employed with no Employees
and text 7. 12/ES E AP 7. Self-employed with employees
-8. 223t -8. Don't know
-1 _H|5} & -1. Not applicable
Interviewer | - -
Instruction
Translation™, -
Note
Note -

Filter\Variable(s) and Conditions:

#60.1 To be answered by those who are in current paid work (code 1 in #60)
#60.8 To be answered by those who are currently self-employed (code 2 in #60.1)
#60.17 To be answered by those who have had a paid work (code 2 in SPWORK)

Construction/Recoding:

Country Variable Codes/Construction Rules

+ SPEMPREL

If (SPWORK=1 and #60.1=1) or (SPWORK=2
and (#60.17>=1 and #60.17<=4))

1. Employee

If (SPWORK=1 and #60.8=2) or (SPWORK=2
and #60.17=6)

2. Self-employed without employees
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If (SPWORK=1 and #60.8=3) or (SPWORK=2
and #60.17=7)

3. Self-employed with employees

If (SPWORK=1 and #60.8=1) or (SPWORK=2
and #60.17=5)

4. Working for own family’s business

If (SPWORK=1 and #60.1=-8) or (SPWORK=1
and #60.8=-8)  or (SPWORK=2 and #60.17=-
8) or (SPWORK=9)

9. No answer

If (SPWORK=0) or (SPWORK=3)

0. NAP (Code 0, 3 in SPWORK)

Optional: Recoding Syntax

if (spwork=1 and spemped=1) spemprel=1.

if (spwork=1 and spsfstat=2) spemprel=2.
if (spwork=2 and spunstat=6) spemprel=2.
if (spwork=1 and spsfstat=3) spemprel=3.
if (spwork=2 and spunstat=7) spemprel=3.
if (spwork=1 and spsfstat=1) spemprel=4.
if (spwork=2 and spunstat=5) spemprel=4.

if (spwork=1 and spsfstat=-8) spemprel=9.

if (spwork=9) spemprel=9.
if (spwork=0 or spwork=3) spemprel=0.

if (spwork=1 and spemped=-8) spemprel=9.

if (spwork=2 and spunstat=-8) spemprel=9.

if (spwork=2 and (spunstat>=1 and spunstat<=4)) spemprel=1.
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SPWRKSUP - Spouse, partner: supervise other employees

National Language

English Translation

Question no. | #60.11.1 F#3te| v X7} #60.11.1 How many subordinates does
and text Ao A m2|, Z4=ES= your spouse have at his/her workplace
Balaiglo] =@ gl whom he/his manage and supervise?
Codes/ aE | Persons
Categories | -g. == c} -8. Don't know
—1. H|s} &t -1. Not applicable
Question no. | #60.11.2 F|5te| i X7} #60.11.2 Does your spouse have a
and text Ao EF e, Usste subordinate at his/her workplace for
B5lxIglo] Qe ke whom your spouse is directly
responsible?
Codes/ 1. UCt 1. Yes
Categories 2. qict 2. No
-8. Z=2ct -8. Don't knew
—1. dH|al| & -1. Not applicable
Question no. | #60.18 11 &< 34 S | F 35t | #60.18 Did your spouse have a
and text Bl X7} &Y 2|, 2= subordinate-at his/her workplace for
B35 &lo| YU ? whom your spouse was directly
responsible?
Codes/ 1. AApct 1. Yes
Categories | o giqict 2.No
-8. Z=Zct -8. Don't know
-1, H|l & -1. Not applicable
Interviewer | - -
Instruction
Translation -
Note
Note -

Filter Variable(s) and Conditions:

#60.11.1 To be answered by those who are currently working (code 1 in SPWORK)
#60.11.2 To be answered by those who are currently working (code 1 in SPWORK)
#60.18 To be,answered by those who are currently not working but had an experience
of'ever working for pay (code 2 in SPWORK)

Construction/Recoding:

Country Variable Codes/Construction Rules

+ SPWRKSUP

If (SPWORK=1 and #60.11.1<=1000 and #60.11.1>0)
or (SPWORK-=1 and #60.11.2=1) or (SPWORK=2 and

#60.18=1)

1. Yes

If (SPWORK=1 and #60.11.1=0) or (SPWORK=2 and

#60.18=2)

2. No

If (SPWORK=1 and #60.11.1=-8 and #60.11.2=-1) or
(SPWORK=1 and #60.11.1=-1 and #60.11.2=-1) or
(SPWORK=2 and #60.18=-8) or (SPWORK=9)

9. No answer
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| If (SPWORK=0) or (SPWORK=3) | 0. NAP (Code 0, 3 in SPWORK)

Optional: Recoding Syntax

if (spwork=1 and ((spnumsup>0 and spnumsup<1000) or spemsubo=1)) spwrksup=1.
if (spwork=2 and spunsubo=1) spwrksup=1.

if (spwork=1 and spnumsup=0) spwrksup=2.

if (spwork=2 and spunsubo=2) spwrksup=2.

if (spwork=1 and spnumsup=-8 and spemsubo=-1) spwrksup=9.

if (spwork=1 and spnumsup=-1 and spemsubo=-1) spwrksup=9.

if (spwork=2 and spunsubo=-8) spwrksup=9.

if (spwork=9) spwrksup=9.

if (spwork=0 or spwork=3) spwrksup=0.
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SPISCO08 - Spouse, partner: occupation ISCO 2008

Please give the text of the source question(s) on the respondent’s spouse occupation used in

your field questionnaire. If ISCO08-codes are not coded directly from the responses, but
derived from a country-specific occupation coding scheme, please provide a table of
correspondence between country-specific and ISCO08 codes attached as a separate file.
Also when you derive 1ISCO08 from another ISCO scheme, such as ISC0O88, ISCO-COM
(a variant developed for the European Union (EU)), or ISCO88-CIS developed by the
Statistical Committee of the Commonwealth of Independent States, please document the
source code and provide a correspondence list.

Please do not enter standard ISCOO08 codes here, but report any deviations. However,
please note that country-specific codes, which are not part of the ISCO coding scheme
cannot be accepted!

Occupations should be coded on the 4-digit level of ISCOO08. Occupationaharea 0 (Armed
Forces occupations) needs some special attention. Since the 1ISCQ variable Is numeric, 4-
digit codes starting with zero, such as 0110 will usually appear as 110.in the data file. It is
therefore suggested that the only valid 3-digit codes in the data file:are those armed forces
occupations 110, 210 and 310.

In some special cases information concerning the eccupation may be insufficient for 4-

digit coding. Instead of coding these cases as [9998] “inadequately described” use 3-digit

coding. In those very special cases where 3-digit.coding is applied, fill in a zero for the
missing digit. Example: code 131 is coded as 1310.

National LLanguage English Translation

Question no. #61 F sl A= of ™ #61 What kind of work does your

and text At o|A] o ZE 20| 2s spouse normally do? What does he/she
S 7P /B o2 gt actually do in that job? If currently not
=R SR e sHx| ofT \_/v%rkmg, tell me about his/her last
ACHH 7P =20l B Yol 1P
ol MRt ol FAAI2.

Codes/ 0110. (ISCO08 unit code) 0110. (1ISCO08 unit code)

Categories _8 me7ic

deviatingfrom
ISCO08

-8. Don't know

—-1. 5K &

-1. Not applicable

Interviewer
Instruction

Translation
Note

Note

Use of ISCO

ISCO08 (ILO)

Please specify any other source code

Documentation for ISSP background variables, ISSP 2018 onwards © GESIS




38

Filter Variable(s) and Conditions:

#61 To be answered by those who are currently working or those who have ever

worked for pay (code 1 in #60 and code 1 in #60.16)

Construction/Recoding:

Country Variable Codes/

Construction Rules + SPISCO08

If (SPWORK=1 and #61=0110) or (SPWORK=2and | 0110. (ISCO08 unit codes)
#61=0110)

If (SPWORK=1 and #61=9629) or (SPWORK=2 and 9629. (1SCO08 unit codes)
#61=9629)

If (SPWORK=1 and #61=-8) or (SPWORK=2 and 9998. Don't know: inadequately
#61=-8) or If (SPWORK-=1 and #61=-1) or :

(SPWORK=2 and #61=-1) described
If (SPWORK=9) 9999. Notanswer
If (SPWORK=0) or (SPWORK=3) 0000. NAP (Code'®; 3 in SPWORK)

Optional: Recoding Syntax

if (spwork=1 and (spocc08>=0110 and spocc08<=9629)) spisco08=spocc08.
if (spwork=2 and (spocc08>=0110 and spocc08<=9629))spisco08=spocc08.
if (spwork=1 and spocc08=-8) spisco08=9998.

if (spwork=2 and spocc08=-8) spisco08=9998.

if (spwork=1 and spocc08=-1) spisca08=9998.

if (spwork=2 and spocc08=-1) spisco08=9998.

if (spwork=9) spisco08=9999.

if (spwork=9 and spocc08=-1).spisco08=9999.

if (spwork=0 or spwork=8),spisco08=0000.
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SPMAINST - Spouse, partner: main status

National Language

English Translation

Question no. | #52.2.7 x| P 35te| v RX= #52.2.7 Does your spouse have a job
and text £20l0| QY= A= st AH ALyt | that provides income?
Codes/ 1. =} 1. Yes
Categories 2. ofC} 2. No
aQnuﬁtelxotn 01 -8, m=7ct -8. Don't know
—1. H|sl & -1. Not applicable
Questionno. | #52.2.8 st UX| &2 73 #52.2.8 What is the primary reason for
and text =5t ol Faddyyt? not working?
Codes/ 01. &tHo|g 01. Below school age
Categories | 02 i3t 02. Schooling
Question no. | 53 JHAF 03. Staying at home
and text 04. =& 04. Old age
05. 2 05. Hllness
06. AAIZHOY 06. Disabled
07. AIFA 07.:Temporarily not working
08. A=A 08. Unemployed
09. 2E&| 09. Retired
10. MAE| % 10. Retired under the age limit
11. F =] 11. Preparing to begin work
12. 355 12. Doing study
13. =i 13. In military service
14, AFIAlml 14. Business failure
15, FHdMZE gl= 15. Not intending to work
17. W™ 0| 17. For religious reasons
18. 7= =57 25l 18. To care for the family
19, F|Adsh =23.910{A 19. No abiliy to get work
774 2| ER (RS ) 77. OTHER (SPECIFY: )
-8. Z=2 -8. Don't know
—1. H|slf &t -1. Not applicable
Interviewers 4 - -
Instruction
Translation || -
Note
Note -

Filter Variable(s) and Conditions:

#52.2.7 To be answered by those who married respondent (code 1 or 2 in PARTLIV)
#52.2.8 To be answered by those who are currently not working (code 2 in #52.2.7)

Construction/Recoding:

Country Variable Codes/Construction Rules

* SPMAINST

If (PARTLIV=1 or PARTLIV=2) and (#52.2.7=1))

1. In paid work
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If (PARTLIV=1 or PARTLIV=2) and (#52.2.8=8 or 2. Unemployed and looking for a job
#52.2.8=11 or #52.2.8=14))

If (PARTLIV=1 or PARTLIV=2) and (#52.2.8=2 or 3. In education
#52.2.8=12))

4. Apprentice or trainee

If (PARTLIV=1 or PARTLIV=2) and (#52.2.8=5 or 5. Permanently sick or disabled
#52.2.8=6))

If (PARTLIV=1 or PARTLIV=2) and (#52.2.8=9 or 6. Retired
#52.2.8=10))

If (PARTLIV=1 or PARTLIV=2) and (#52.2.8=3 or 7. Domestic work
#52.2.8=18))

If (PARTLIV=1 or PARTLIV=2) and (#52.2.8=13)) 8. In compulsory military service or
community service

If (PARTLIV=1 or PARTLIV=2) and (#52.2.8=4 or 9. Other
#52.2.8=7 or #52.2.8=15 or #52.2.8=17 or #52.2.8=19
or #52.2.8=77))

If (PARTLIV=1 or PARTLIV=2) and (#52.2.7=-8)) or | 99. No answer
((PARTLIV=1 or PARTLIV=2) and (#52.2.8=-8)) or
(PARTLIV=9)

If (PARTLIV=3) or (PARTLIV=7) 00. NAP (Code,3 or 7 in PARTLIV)

Optional: Recoding Syntax

if ((partliv=1 or partliv=2) and (emply2=1)) spmainst=1:

if ((partliv=1 or partliv=2) and (whynoe2=8 or»whynoe2=11 or whynoe2=14))
spmainst=2.

if ((partliv=1 or partliv=2) and (whynoe2=2,0r whynoe2=12)) spmainst=3.

if ((partliv=1 or partliv=2) and (whynoe2=5 or whynoe2=6)) spmainst=5.

if ((partliv=1 or partliv=2) and{whynoe2=9 or whynoe2=10)) spmainst=6.

if ((partliv=1 or partliv=2) and (whynoe2=3 or whynoe2=18)) spmainst=7.

if ((partliv=1 or partliv=2),and (whynoe2=13)) spmainst=8.

if ((partliv=1 or partliv=2), and (whynoe2=4 or whynoe2=7 or whynoe2=15 or
whynoe2=16 or whynoe2=17 or'whynoe2=19 or whynoe2=77)) spmainst=9.

if ((partliv=1 or partliv=2) and (emply2=-8)) spmainst=99.

if ((partliv=1 or partliv=2) and (whynoe2=-8)) spmainst=99.

if (partliv=9) spmainst=99.

if (partliv=3ar partliv=7) spmainst=00.
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UNION - Trade union membership

National Language English Translation
Question no. | #58.7 #Hsl= dX s =gl #58.7 Are you a union member?
and text Jtdstm AEH ke
Codes/ 1. O™t 1. Yes
Categories 2. ofuC} 2. No
-8. 22Ach -8. Don't know
-1, H|&H & -1. Not applicable
Question no. | #58.7.1 (735t UYX| &Clod) #58.7.1 (IF NOT UNION MEMBER)
and text Aol 7telst Mo| &Y ke Were you a member ofstrade union
before?
Codes/ 1. 2=t 1. Yes
Categories | o ofL|c} 2.No
-8. 2=t -8. Don't know
—1. d|sHEt -1. Not applicable
Interviewer | -
Instructions
Translation | -
Note
Note We asked the question of union membership experience only to whom are
currently working for someone else and,paid.

Filter Variable(s) and Conditions:

#58.7 To be answered by those who are working for someone else (code 1 in #58.1)
#58.7.1 To be answered by employees who are currently not a union member (code 2 in

#58.7)

Construction/Recoding:

Country Variable Codes/Construction Rules

* UNION

If (#58.7=1)

1. Yes, currently

If (#58.7=2 and #58.7.1=1)

2. Yes, previously but not currently

If (#58:7=2"and #58.7.1=2)

3. No, never

7. Refused

If (#58.7=-8) or (#58.7.1=-8) or if (58.7=-1)

9. No answer

Optional: Recoding Syntax

if (wgunn=1) union=1.

if (wgunn=2 and wgunnp=1) union=2.
if (wgunn=2 and wgunnp=2) union=3.
if (wgunn=-8) union=9.

if (wgunnp=-8) union=9.

if (wgunn=-1) union=9.
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nat_RELIG - Country-specific religious affiliation

National Language English Translation
Questionno. | #25 F#5t= HH E2WE JHX| 2 #25 What is your religion?
and text H AL 71?
Codes/ 1. 20 1. Buddhist
Categories 2. JfAlm 2. Protestant
3. ¥ 3. Catholic
4. E21 g 4. No religion
77. 7|El (ol &1 ) | 77. OTHER (SPECIFY )
-8. 2=t -8. Don't know
—-1. || & -1. Not applicable
Interviewer | -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules - nat RELIG
If (#25=4) 0. No religion
If (#25=3) 1. Catholic
If (#25=2) 2. Protestant
If (#25=1) 7. Buddhist
If (#25=77) 10. Other Religions
- 997. Refused
If (#25=-8) 999. No answer

Optional..Recading Syntax

if (relig=1) KR_relig=7.
it (relig=2) KR_relig=2.
if (relig=3) KR _relig=1.
it (relig=4) KR_relig=0.
if (relig=77) KR_relig=10.
if (relig=-8) KR_relig=999.
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RELIGGRP- Groups of religious affiliations

National Language English Translation
Question no. | #25 F#5t= HH EWE JIX| 1 #25 What is your religion?
and text A AL 71?
Codes/ 1. 200 1. Buddhist
Categories 2. JfAlm 2. Protestant
3. M1 3. Catholic
4. 51 gl 4. No religion
77. 7|E} (0= Z=1: 77. OTHER (SPECIFY )
-8. Z=2Zct -8. Don't know
—-1. H|s| & -1. Not applicable
Interviewer - -
Instruction
Translation -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules * RELIGGRP
If (#25=4) 0.No religion
If (#25=3) 1. Catholic
If (#25=2) 2. Protestant
- 3. Orthodox
- 4. Other Christian
- 5. Jewish
- 6. Islamic
If (#25=1) 7. Buddhist
- 8. Hindu
- 9. Other Asian religions
If (#25=77) 10. Other religions
- 97. Refused
z 98. Information insufficient
If (#25=-8) 99. No answer

Optional: Recoding Syntax

\ recode relig (1=7)(2=2)(3=1)(4=0)(77=10)(-8=99) into religgrp.

Documentation for ISSP background variables, ISSP 2018 onwards © GESIS




44

ATTEND - Attendance of religious services

National Language English Translation
Question no. | #24 Fst= Lo} X+ 2= #24 How often do you attend religious
and text = ol =28 7Yk services?
Codes/ 1. 2Z=2of| o4z = 1. A few times a week
Categories | o ol==colo|| 5t & 2. Once a week
3. eHEol M H 3. Two or three times a month
4. él_L':EFoﬂ Skt 4. Once a month
5. o # H 5. Several times a year
6. Ydof| s & 6. Once a year
7. Ao g #H ofgk 7. Less frequently than gnce a'year
8. M3 JHX| gt=ct 8. Never
-8. 227t -8. Don't know
—1. d|sHEt -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules + ATTEND
If (#24=1) 1. Several times a week or more often
If (#24=2) 2. Once a week
If (#24=3) 3. 2 or 3 times a month
If (#24=4) 4. Once a month
If (#24=5) 5. Several times a year
If (#24=6) 6. Once a year
If (#24=7) 7. Less frequently than once a year
If (#24=8) 8. Never
- 97. Refused
If (#24=-8) 98. Don't know
: 99. No answer

Optional: Recoding Syntax

| recode attendkr (-8=98)(else=copy) into attend.
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TOPBOT - Top-Bottom self-placement

National Language English Translation
Questionno. | #20(AY), #19(BY) st=Atz|2 =| | #20(A type) #19(B type) In our society
and text =22 12 5t %AES 102z |there are groups which tend to be
sictd P sk= ofclof 3ot A tom;)ardts the éoptﬁndbg{toups I\éVhIiCh t_end
b= OrAk =] = to be towards the bottom. Below is a
Z;oké' Hk? RAE el FaA scale that runs top to bottom. Where
- would you put yourself on this scale?
Codes/ 1. Z3st= 1. Bottom
Categories Py 2
3. 3.
4, 4.
5. 5.
6. 6.
7. 7.
8. 8.
9. 0.
10. &5 10, Top
-8. 22Ach :8. Don't know
—1. H|al| & -1.'Not-applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules

+ TOPBOT

if (#20=170r #19=1)

. Lowest, Bottom

if (#20=2 or #19=2)

if (#20=3/0r#19=3)

if (#20=4 or #19=4)

if(#20=5 or #19=5)

if (#2026 or #19=6)

if (#20=7 or #19=7)

if (#20=8 or #19=8)

1
2
3.
4.
5
6
7
8

if (#20=9 or #19=9)

9.

if (#20=10 or #19=10)

10. Highest, Top

if (#20=-8 or #19=-8)

98. Don't know

99. No answer

Optional: Recoding Syntax

| if (ranka=1 or rankb=1) topbot=1.
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if (ranka=2 or rankb=2) topbot=2.
if (ranka=3 or rankb=3) topbot=3.
if (ranka=4 or rankb=4) topbot=4.
if (ranka=5 or rankb=5) topbot=5.
if (ranka=6 or rankb=6) topbot=6.
if (ranka=7 or rankb=7) topbot=7.
if (ranka=8 or rankb=8) topbot=8.
if (ranka=9 or rankb=9) topbot=9.
if (ranka=10 or rankb=10) topbot=10.
if (ranka=-8 or rankb=-8) topbot=98.
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VOTE_LE - Did respondent vote in last general election?

National Language

English Translation

Questionno. | #16 Hst= 23l 6" 13

#16 Did you vote in the 7th Nationwide

and text (2018.06.13.)0l YU F=Z=A| | local elections (June 13, 2018)?
XA of FESHISHI?

Codes/ 1. FE3Mct 1. Voted

Categories 2. EESIK| &t 2. Did not vote
-8. Z=Zct -8. Don't know
—1. d|sl|l & -1. Not applicable

Interviewer - -

Instruction

Translation -

Note

Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules

- VOTE_LE

If (#16=-1) 0. Not eligible to vote at last election
If (#16=1) 1. Yes

If (#16=2) 2. No

- 7. Refused

If (#16=-8) 9. No answer

Optional: Recoding Syntax

recode votel8 (1=1)(2=2)(-1=0)(-8=9) into vote_le.
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nat_PRTY - Country specific party voted for in last general election

National Language English Translation
Questionno. | #16.1 (FESHACIH) =3 63 13 | #16.1 (IF YOU VOTED) Which party's
and text e H=SAXZAAMM FAEH | heads of local governments candidate
S S did you vote in the Jun(2018)'s the 7"
ez of= meel gwoy £ P8P S
TS U7 ationwide local election?
Codes/ 1. Eo{glFct 1. The Minjoo Party
Categories | o X}S3sh2Ct 2. Liberty Korea Party
3. HiEoleig 3. Bareunmirea Party
4, S1FgsE 4. Party for Democracy and Peace
5. ol 5. Justice Party
66. 7|Et Y 66. OTHER
77. OFROAE FESIX| 2tg 77. None
-8. 22 -8. Don't know
-1, H|l & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

#16.1 To be answered by those who voted.in the 7" Nationwide local election (code 1

in #16)

Construction/Recoding:

Country Variable Codes/Construction Rules

- nat_ PRTY

If (VOTE_LE=1 and #16.1=1)

1. The Minjoo Party

If (VOTE_LE=1 and #16,1=2)

2. Liberty Korea Party

If (VOTE E=1 and #16.1=3)

3. Bareunmirea Party

If (VOTE LE=1 and #16.1=4)

4. Party for Democracy and Peace

If (VOTE_LE=1 and #16.1=5)

5. Justice Party

If.(VOTE_LE=1 and #16.1=66) 95. Other
If \VOTE=ILE=1 and #16.1=77) 96. Invalid ballot
97. Refused

If.(VOTE_LE=1 and #16.1=-8) or (VOTE_LE=9)

99. No answer

If (VOTE_LE=0) or (VOTE_LE=2) or (VOTE_LE=7)

0. NAP (0, 2, 7 in VOTE_LE)

Optional: Recoding Syntax

if (vote_le=1 and vote181=1) kr_prty=1.
if (vote_le=1 and vote181=2) kr_prty=2.
if (vote_le=1 and vote181=3) kr_prty=3.
if (vote_le=1 and vote181=4) kr_prty=4.
if (vote_le=1 and vote181=5) kr_prty=5.
if (vote_le=1 and vote181=66) kr_prty=95.
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if (vote_le=1 and votel81=77) kr_prty=96.
if (vote_le=1 and vote181=-8) kr_prty=99.
if (vote_le=9) kr_prty=99.
if (vote_le=0) kr_prty=00.
if (vote_le=2) kr_prty=00.
if (vote _le=7) kr_prty=00.
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PARTY_LR - Party voted for in last general election: left-right scale

National Language English Translation
Question no. | #16.1 (FIESHATHH) =31 6& 13 | 4161 (IF YOU VOTED) Which party’s
and text e H=sSAXSUAMAM G| heads of local governments candidate
S(EBAME, FAMY EE 2 did you vote in the Jun(2018)'s the 7
Ahes2 o= Bdel szl Nati)c/)nwide local election?
FEstd 54 t? '
Codes/ 1. E0o{glFct 1. The Minjoo Party
Categories | o X} st=2Ct 2. Liberty Korea Party
3. HiEoleig 3. Bareunmirea Party
4. olxgsict 4. Party for Democracy and Peace
5. Mol 5. Justice Party
66. 7|Ef MY 66. OTHER
77. OIROAE FESHK| 25 77. None
-8. 222t -8. Don't know:
-1 H|sl| & -1. Not applicable
Interviewer | -
Instructions
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

#16.1 To be answered by those who voted in the 7™ Nationwide local election (code 1

in #16)

Construction/Recoding:

Country Variable'Codes/Construction Rules

* PARTY_LR

if (vote_le=1 and #16.1=5)

1. Far left (communist, etc.)

if (vote_le=1 and #16.1=1)

2. Left / centre left

if (vote_le=Twand #16:1)=4

3. Centre / liberal

if (vote_le=1and #16.1)=3

4. Right / conservative

if (vote_le=1.and #16.1)=2

5. Far right (fascist, etc.)

if(vote le=1 and #16.1)=66

6. Other

7. No party affiliation

if (vote le=1and =77)

96. Invalid ballot

97. Refused

98. Insufficient information to code into
scheme

if (vote_le=1 and #16.1=-8) or (vote le=9)

99. No answer

if (vote_le=0) or (vote le=2) or (vote le=7)

0. NAP (0, 2,7 in VOTE_LE)

Optional: Recoding Syntax

if (vote_le=1 and vote181=5) party_Ir=1.
if (vote_le=1 and vote181=1) party Ir=2.
if (vote_le=1 and vote181=4) party Ir=3.
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if (vote_le=1 and votel181=3) party_Ir=4.

if (vote_le=1 and votel181=2) party_Ir=5.

if (vote_le=1 and vote181=66) party_lr=6.
if (vote_le=1 and votel181=77) party_Ir=96.
if (vote_le=1 and vote181=-8) party_lr=99.
if (vote_le=9) party_Ir=99.

if (vote_le=0) party_Ir=00.

if (vote_le=2) party_Ir=00.

if (vote_le=7) party_Ir=00.
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nat_ETHN1 — Country-specific:

ethnic group 1

National Language

English Translation

Question no.
and text

Codes/

Categories

Interviewer
Instruction

Translation
Note

Note

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules

* ETHN1

97. Refused

98. Don't know

99. No answer

Optional: Recoding Syntax
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nat_ETHN2 — Country-specific:

ethnic group 2

National Language

English Translation

Question no.
and text

Codes/

Categories

Interviewer
Instruction

Translation
Note

Note

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules

- nat_ETHN2

97. Refused

98. Don't know

99. No answer

Optional: Recoding Syntax
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HOMPOP - How many persons in household

National Language English Translation
Questionno. | #52.1.5 — #52.10.5 0] 22 X|Z& | #52.1.5-#52.10.5 Is [person] living in
and text FEHO| M g At AS L ? your house, or is [person]  staying
ZAl Sob L7k AL Rl mty | Somewhere else?
Codes/ 1. SH 1. Living together
Categories | o H| = 2. Not living together
-8. 2= -8. Don't know
—1. d|sH & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Country Variable Codes/Construction Rules * HOMPOP

If (#52.1.5 to #42.10.5=1) 01. One person (only respondent)

96. Not a private household

99. No answer

If (#52.1.5 to #42.10.5=-8)

Optional: Recoding Syntax

compute hom1=0.
compute hom2=0.
compute hom3=0:
compute hom4=0.
compute hom5=0.
computethom6=0.
compute hom7=0.
compute.hom8=0.
compute hom9=0.
compute hom10=0.

recode away away2 away3 away4 away5 away6 away7 away8 away9 awayl0
(1=1)(else=0) into hom1 hom2 hom3 hom4 hom5 hom6 hom7 hom8 hom9 hom10.
compute
hompop=hom1+hom2+hom3+hom4+hom5+hom6+hom7+hom8+hom9+hom10.

if (away=-8 or away2=-8 or away3=-8 or away4=-8 or away5=-8 or away6=-8 or
away7=-8 or away8=-8 or away9=-8 or away10=-8) hompop=99.

freq hompop.

delete variables hom1 to hom10.
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HHADULT - How many adults in household

National Language

English Translation

Question no. | #52.1.3 - #52.10.3 ©| 9] }jo]= "t | #52.1.3 - #52.10.3 How old is [person]?
and text o2 g AYyrt?
Codes/ 18. 18A 18. 18 years old
Categories 09. 99A| 99. 99 years old
-8. 2= -8. Don't know
—1. H|sHE -1. Not applicable
Question no. | #52.1.5 - #52.10.5 ©] £& X Y | #52.1.5 - #52.10.5 Is [person] diving in
and text o A 8hA A3 d&U7k? #HA] % | your house, or is [person] staying
oF L7hA] A3 9l 51719 somewhere else?
Codes/ 1. =7 1. Living together
Categories | 2 H| = 2. Not living together
-8. 2=3c -8. Don't know
-1, H|sl & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding: (list lowestyshighest, and ‘'missing’ codes only, replace terms in
[square brackets] with real numbers.)

Country Variable«Codes/Construction Rules

- HHADULT

If (hompop>=1 and #52.1.3=1 and #52.1.3>=18)

01. One adult (only respondent)

If (HOMOPOP=96)

96. NAP (Code 96 in HOMPOP)

If(#52.1.3 to #52.10.3=-8) or (HOMPOP=99)

99. No answer

Qptional: Recoding Syntax

compute adult1=0.
compute adult2=0.
compute adult3=0.
compute adult4=0.
compute adult5=0.
compute adult6=0.
compute adult7=0.
compute adult8=0.
compute adult9=0.
compute adult10=0.

if (hompop>=1 and away=1 and agekr>=18) adult1=1.
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if (hompop>=1 and away2=1 and old2>=18) adult2=1.
if (hompop>=1 and away3=1 and old3>=18) adult2=1.
if (hompop>=1 and away4=1 and old4>=18) adult2=1.
if (hompop>=1 and away5=1 and old5>=18) adult2=1.
if (hompop>=1 and away6=1 and old6>=18) adult2=1.
if (hompop>=1 and away7=1 and old7>=18) adult2=1.
if (hompop>=1 and away8=1 and old8>=18) adult2=1.
if (hompop>=1 and away9=1 and 0ld9>=18) adult2=1.
if (hompop>=1 and away10=1 and o0ld10>=18) adult2=1.

compute hhadult =
adultl+adult2+adult3+adult4+adult5+adult6+adult7+adult8+adult9+adultl0.

if (agekr=-8 or old2=-8 or old3=-8 or old4=-8 or old5=-8 or old6=-8 or old7=-8 or
old8=-8 or 0ld9=-8 or 0ld10=-8) hhadult=99.

if (hompop=99) hhadult=99.

if (hompop=96) hhadult=96.
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HHCHILDR - How many children in household

National Language English Translation
Questionno. | #52.1.3 — #52.10.3 0| £2o| L}o| | #52.1.3 - #52.10.3 How old is [Person]?
and text £ ez ¥ Myt
Codes/ 7. 7M 7.7 years old
Categories 17.17A| 17. 17 years old
-8. ==t -8. Don't know
-1, dH|sl|l & -1. Not applicable
Questionno. | #52.1.5 — #52.10.5 0| 22 X|Z | #52.1.5 - #52.10.5 Is [person]diving in
and text oM s AtD Sy e & | your house, or is [person]  staying
Al Sob L7t At QlgLnte | Somewhere else?
Codes/ 1. =7 1. Living together
Categories 2. H = 2. Not living together
-8. 222t -8. Don't know
—1. dH|sl|l & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding: (list lowestyhighest, and ‘missing’ codes only, replace terms in

[square brackets] with real numbers.)

Country Variable/Codes/Construction Rules

* HHCHILDR

If ((#52.1.5 to #52:10.5=1) and (#52.1.3<=6 and

#52.1.3>=18)) or (#52.2.5 to #52.10.5=2)

00. No children

If ((#52.1.5, to #52.10.5=1) and (#52.1.3>6 and

#52.1.3<18))

01. One child

If (HOMPOR=96)

96. NAP (Code 96 in HOMPOP)

If (#52.1.5 10 #52.10.5=-8) or (HOMPOP=99)

99. No answer

Optional: Recoding Syntax

compute ch1=0.
compute ch2=0.
compute ch3=0.
compute ch4=0.
compute ch5=0.
compute ch6=0.
compute ch7=0.
compute ch8=0.
compute ch9=0.
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compute ch10=0.

if (away=1 and (age>6 and age<18)) ch1=1.

if (away2=1 and (old2>6 and 0ld2<18)) ch2=1.

if (away3=1 and (0ld3>6 and old3<18)) ch3=1.

if (away4=1 and (old4>6 and old4<18)) ch4=1.

if (away5=1 and (old5>6 and old5<18)) ch5=1.

if (away6=1 and (o0ld6>6 and o0ld6<18)) ch6=1.

if (away7=1 and (old7>6 and old7<18)) ch7=1.

if (away8=1 and (0ld8>6 and 0ld8<18)) ch8=1.

if (away9=1 and (0ld9>6 and 0ld9<18)) ch9=1.

if (away10=1 and (0ld10>6 and 0ld10<18)) ch10=1.

compute hhchildr=chl+ch2+ch3+ch4+ch5+ch6+ch7+ch8+ch9+ch10.
if (age=-8 or old2=-8 or o0ld3=-8 or old4=-8 or old5=-8 or old6=-8 or old7=-8-0r old8=-
8 or 0ld9=-8 or 0ld10=-8) hhchildr=99.

if (hompop=99) hhchildr=99.

if (hompop=00) hhchildr=96.
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HHTODD - How many toddlers in household

National Language English Translation
Questionno. | #52.1.3 — #52.10.3 0| £2o| L}o| | #52.1.3 - #52.10.3 How old is [Person]?
and text £ ez ¥ Myt
Codes/ 0. OA| 0. Oyears old
Categories 7. 7M 7.7 years old
-8. 22Ach -8. Don't know
—-1. || & -1. Not applicable
Questionno. | #52.1.5 — #52.10.5 0| 22 X|Z | #52.1.5 - #52.10.5 Is [person]diving in
and text FCHol|l Ao EHH AtD L|{7t? =+ your house, or is [person] staying
Al EoF LIZIA AT U&7} somewhere else?
Codes/ 1. =7 1. Living together
Categories 2. H=H 2. Not living together
-8. 22ch -8. Don't know
-1, H|| & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding: (list lowestyhighest, and ‘missing’ codes only, replace terms in

[square brackets] with real numbers.)

Country Variable/Codes/Construction Rules

- HHTODD

If ((#52.1.5 to #52.10.5=1) and (#52.1.3>=8)) or

(#52.2.5 t0 #52.10.5=2)

00. No toddlers

If ((#52.1.5, to #52.10.5=1) and (#52.1.3>0 and

#52.1.3<7))

01. One toddler

If (HOMPOR=00)

96. NAP (Code 96 in HOMPOP)

If (#52.1.5 10 #52.10.5=-8) or (HOMPOP=99)

99. No answer

Optional: Recoding Syntax

compute tod1=0.
compute tod2=0.
compute tod3=0.
compute tod4=0.
compute tod5=0.
compute tod6=0.
compute tod7=0.
compute tod8=0.
compute tod9=0.
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compute tod10=0.

if (away=1 and (age>0 and age<7)) tod1=1.

if (away2=1 and (o0ld2>0 and old2<7)) tod2=1.

if (away3=1 and (0ld3>0 and old3<7)) tod3=1.

if (away4=1 and (o0ld4>0 and old4<7)) tod4=1.

if (away5=1 and (old5>0 and old5<7)) tod5=1.

if (away6=1 and (0ld6>0 and old6<7)) tod6=1.

if (away7=1 and (old7>0 and old7<7)) tod7=1.

if (away8=1 and (0ld8>0 and 0ld8<7)) tod8=1.

if (away9=1 and (0ld9>0 and o0ld9<7)) tod9=1.

if (away10=1 and (0ld10>0 and o0ld10<7)) tod10=1.

compute hhtodd=tod1+tod2+tod3+tod4+tod5+tod6+tod7+tod8+tod9+tod10.
if (age=-8 or old2=-8 or o0ld3=-8 or old4=-8 or old5=-8 or old6=-8 or old7=-8-0r old8=-
8 or 0ld9=-8 or 0ld10=-8) hhtodd=99.

if (hompop=99) hhtodd=99.

if (hompop=00) hhtodd=96.
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nat_RINC - Country-specific: personal income

National Language

English Translation

Questionno. | #58 X Hst= ol A= < | #58 Do you have a job that provides
and text S 5t HAYaE? income?
Codes/ 1. =} 1. Yes
Categories | o ofL|c} 2.No
-8. 2=t -8. Don't know
—1. d|sl|l & -1. Not applicable
Question no. | #58.14 0| &Moo Z=2 52 | #58.14 Before taxes and . other
and text cf2F Ym A Aojeluyt? M2=2x | deductions, what is your total, monthly
average income from sthis<job? This
X O] OHZL = A H O Ao =. .
Ol‘jzlo_‘j?_1’ 7| “j_ooi':' T lincludes your base pay, bonuses, and
g S= EZE5td TES FHAl | other  allowancesn, W(IF  THE
2. (5¢ 39 Zo= 9452 | RESPONDENT DOES NOT HAVE A
1271 2 Lo 7|9 & AH) REGULAR MONTHLY INCOME (EX.
FARMER), “ THEN DIVIDE THE
ESTIMATED ANNUAL INCOME
BY.12.) ABOUT MAN(10,000) WON
Codes/ dEd 2245 okl WABOUT MAN(10,000)
Categories WON
-8. 2=t 8. Don't know
-1, dH|si & -1. Not applicable
Interviewer | (5 £9 ZA=ols A4=2 12 | (IF THE RESPONDENT DOES NOT
Instruction MYEZ LM sl eetofpz| o5t | HAVE A REGULAR  MONTHLY
AlR) INCOME (E.G. FARMER), DIVIDE
THE ESTIMATED ANNUAL
INCOME BY 12)
Question no. | #58.15.1 2ol M . 2 SHAl A5 | #58.15.1 Beside income from your main
and text ool A 5telW|E} ~E(7|E} = |job, do you have other sources of
ZAEl o|Rh MAF 2 oy 4= | income? This includes interest or
1} 64 AER Hx3 s2 —ay) dividends, rent, social security, other
— A, 1o 4O == (L - - .
Skg JolMoz we = =g pensions, alimony or child support,
1 ° public aid (welfare), and armed forces
25 g8t A5)o| =Folztz U 's all ,
oLk or veteran’s allotment'.
Codes/ 1. 2Ct 1. Yes
Categories 2. qict 2. No
-8. 2=t -8. Don't know
—1. H|sl| & -1. Not applicable
Questionno. | #58.15.2 JctH 2k 2”@+ A | #58.15.2 If any, what is your monthly
and text oFQl L 77}? average income?
Codes/ HEA J|EINE: orel ABOUT MAN(10,000)
Categories WON
-8. 227t -8. Don't know
—-1. H|sl| & -1. Not applicable
Question no. | #58.17.1 F#3t= O|A}, Z{AF 2! 2l | #58.17.1 Do you have any sources of
and text income? This interest or dividends, rent,

e

AN E _1 = a SO
I:H _l_:ﬂl' 9_:'D, 7—||-o E_DF_D %t
=

—

TR RE JjelHer #e

social security, other pensions, alimony
or child support, public aid (welfare),
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s= 25 oM =elel 250l and  armed forces or  veteran's
ZFZ0|2te JUSH7IM? UctH CHEF )
2@ dollunt? allotment.
Codes/ 1. UCt 1. Yes
Categories 2. gict 2 No
-8. Z=Zct -8. Don't know
—1. H|sHE -1. Not applicable
Codes/ #58.17.2 ArCtH CH2F HA A | #58.17.2 If any, what is your monthly
Categories opel L 7}? average  income?
™A J|EAS: ol ABOUT MAN(10,000)
WON
-8. Z=Zct -8. Don't know
-1, dH|sl| & -1. Not applicable
Translation -
Note
Note Please enter name of the currency: MAN(10.000) WON

Filter Variable(s) and Conditions:

#58 Ask all

#58.14 Ask only to those who are currently working for pay(code 1 in #58)
#58.15.1 Ask only to those who are currently working forpay (code 1 in #58)
#58.15.2 Ask only to those who have other sources of income (code 1 in #58.15.1)
#58.17.1 Ask only to those who are not currently working*for pay (code 2 in #58)
#58.17.2 Ask only to those who have any sources of income (code 1 in #58.17.1)

Construction/Recoding: (If the income information is collected by asking for income
classes or brackets, please code class midpoints in local currency and report classes offered

to respondents. If asking for individual amounts, list lowest, highest, and ‘missing’ codes
only)

Country Variable Codes/Construction Rules * nat_RINC

If (#58=1L7"and #57.14>=0 and #58.15.1=1 and
#58.15.25=0) KR_RINC=#58.14+#58.15.2 or (#58=1
and #58.14>=0 and #58.15.1=2) KR_RINC=#58.14 or
(#58=2and» #58.17.1=1 and  #58.17.2>=0)
KR_RINC=#58.17.2

If(#58=2 and #58.17.1=2) 000000. No income

999997. Refused

IT'(#58=-8) or (#58=1 and #58.14=-8) or (#58=1 and | 999998. Don't know
#58.15.1=-8) or (#58=1 and #58.14>=0 and
#58.15.1=1 and #58.15.2=-8) or (#58=2 and
#58.17.1=-8) or (#58=2 and #58.17.1=1 and
#58.17.2=-8)

- 999999. No answer

Optional: Recoding Syntax

if (incmr=1 and rincom0>=0 and rxtinc=1 and rxtinc0>=0) kr_rinc=rincom0+rxtincO.
if (incmr=1 and rincom0>=0 and rxtinc=2) kr_rinc=rincomO.
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if (incmr=2 and unxtinc=1 and unxtinc0>=0) kr_rinc=unxtincO.

if (incmr=2 and unxtinc=2) kr_rinc=000000.

if (incmr=-8) kr_rinc=999998.

if (incmr=1 and rincom0=-8) kr_rinc=999998.

if (incmr=1 and rxtinc=-8) kr_rinc=999998.

if (incmr=1 and rincom0>=0 and rxtinc=1 and rxtinc0=-8) kr_rinc=999998.
if (incmr=2 and unxtinc=-8) kr_rinc=999998.

if (incmr=2 and unxtinc=1 and unxtinc0=-8) kr_rinc=999998.
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nat_INC - Country-specific: household income

National Language

English Translation

Question no. | #62 FEHo| LA EAELS M Z | #62 Before taxes and other deductions,

and text 2H o|™Mof tjzk o= XMT g | what is the total average monthly
7t Yete =atsk m= yppels | income in your household?  This
of zolg Z=AE o|X XA includes all sources of income (ex. work
ol .%!EH_/.\_%IL'_} 0,_—;:“ e ,E£§ !ncome, interest or dividends, property
.70 o ’ ol O o | income, rent, pensions, welfare support,
== "‘E”E"‘Ei _7H -——'—$ = | or the money personally provided by
2 & 52 25 &l ZEsH = | somebody) from all  household
MAI2 members including yourself;

Codes/ dyd It & &5 at | ABOUT MAN(10,000)

Categories 2] WON
-8. 2=t -8. Don't know
-1, dH|sl|l & -1. Not applicable

Interviewer | (8 &2 d=ol= A2=E | (IF THE RESPONDENT DOES NOT

Instruction 1270 2 LI=0ofA sfiet2tof 7]¢e | HAVE A REGULAR  MONTHLY
3. feal 28 49, 0, siol NEOME B FanMe) olvioe
JIME BE SH/M|ISH RIS
ol HA.: _ t/ 571 EFL INCOME BY 12. MAKE SURE TO
of A5E s T A.
b AFE mesix ot ool INCLUDE THE INCOME OF EACH
=, M= ore = 7r%& | FAMILY MEMBER LIVING WITH
2 HMeAlZd A) THE RESPONDENT MENTIONED IN

#49, #50, #51)

Translation | -

Note

Note Please enter name of the currency: MAN(10,000) WON

Filter Variable(s) and.Conditions:

Construction/Recoding:.(If the income information is collected by asking for income
classes or brackets, please code class midpoints in local currency and report classes offered

to respondents: If asking for individual amounts, list lowest, highest, and ‘missing’ codes

only)
Country Variable Codes/Construction Rules * nat_INC
IF#62=...)
If (#62=0) 000000. No income
- 999997. Refused
If (#62=-8) 999998. Don't know

999999. No answer

Optional: Recoding Syntax

| recode incom0 (-8=999998)(else=copy) into kr_inc.
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MARITAL - Legal partnership status

National Language English Translation
Questionno. | #52.1.4 o 29| ZQIAMEl= 7|=, | #52.1.4 Is [PERSON] now married,
and text Al 0o|E ¥ o|E, S Zof | widowed, divorced, separated,
M oofcof &l etst gpe cohabiting, or never married?
Codes/ 1. 71= 1. Married
Categories | o A} 2. Widowed
3. 0= 3. Divorced
4, e 4. Separated
5. 0% 5. Never married
6. =71 6. Cohabiting
-8. 2=t -8. Don't know
-1, H|sl & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Construction/Recoding:

Country Variable Codes/Construction,Rules + Marital

If (#52.1.4=1) 1. Married

If (#52.1.4=6) 2. Civil partnership

If (#52.1.4=4) 3. Separated from spouse/civil partner
(still legally married/still legally in a
civil partnership)

If (#52.1.4=3) 4. Divorced from spouse/legally
separated from civil partner

If (#42.1.4=2) 5. Widowed/civil partner died

If (#52.1.4=5) 6. Never married/never in a civil
partnership

- 7. Refused

If (#52.1.4=-8) 9. No answer

Optional: Recoding Syntax

if(maritalkr=1) marital=1.
if (maritalkr=6) marital=2.
if (maritalkr=4) marital=3.
if (maritalkr=3) marital=4.
if (maritalkr=2) marital=5.
if (maritalkr=5) marital=6.
if (maritalkr=-8) marital=9.
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F_BORN -Father’s country of birth

National Language English Translation

Questionno. | #47.1 F35te] EZHMA = of- | #47.1 In which country were your
and text 20| Ejo{ L S 71? parents born?
Codes/ O} X|: Father:
Categories | —g. m =z} -8. Don't know

—1. H|sl| & -1. Not applicable
Interviewer - -
Instruction
Translation -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules

- F_BORN

If (#47.1=...)

97. Refused

If (#47.1=-8)

99. No answer

Optional: Recoding Syntax

| recode fbirthpl (-8=999) (else=copy) into f_born.
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M_BORN —-Mother’s country of birth

National Language English Translation

Questionno. | #47.2 F35te] EZHMA = of- | #47.2 In which country were your
and text 20| Ejo{ L S 71? parents born?
Codes/ oMY : Mother:
Categories | —g. m =z} -8. Don't know

—1. d|sl|l & -1. Not applicable
Interviewer - -
Instruction
Translation -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules M BORN
If (#47.2=...)
- 97. Refused
If (#47.2=-8) 99. No answer

Optional: Recoding Syntax

| recode mbirthpl (-8=99)(else=copy) into m_born.
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URBRURAL - Place of living:

urban - rural

National Language English Translation
Questionno. | #27 F3tl= Cl2 & oL X|dof| | #27 Which of the categories below
and text AT Qlctm M ZESHAIL )2 comes closest to the type of place you
are living in now?

Codes/ 1. 2 A 1. A big city
Categories 2. 32 DA FTH 2. The suburbs or outskirts of a big city

3. &2 EA 3. Atown or a small city

4. A 20} 4. A country village

5. 2w 2 5. A farm or home in the country

8. ZEZct -8. Don't know

—1. H|sHE -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction‘’Rules + URBRURAL
If (#27=1) 1. A big city
If (#27=2) 2. The suburbs or outskirts of a big city
If (#27=3) 3. Atown or a small city
If (#27=4) 4. A country village
If (#27=5) 5. A farm or home in the country
If (#27=-8) 9. No answer

Optional:.Recoding Syntax

\ recode.urbruralkr (-8=9)(else=copy) into urbrural.
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nat_REG —-Country specific: region

National Language

English Translation

Question no. | -
and text

Codes/ -

Categories -

Interviewer -
Instruction

Translation -
Note

Note Derived from the sampling frame

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules * nat_REG

if (blockno>=1 and blockno<=40) .

10. Seoul Metropolitan City

if (blockno>=201 and blockno<=207)

20. Gangwon-do

if (blockno>=281 and blockno<=286)

30. Daejon Metropolitan City

if (blockno>=251 and blockno<=258)

31. Chungcheongnam-do

if (blockno>=701 and blockno<=702)

City

if (blockno>=301 and blockno<=306)

36. Chungcheongbuk-do

if (blockno>=151 and blockne<=161)

40. Incheon Metropolitan City

if (blockno>=101 and blockno<=146)

41. Gyeonggi-do

if (blockno>=631 and hlockno<=636)

50. Gwangju Metropolitan City

if (blockno>=601 and bleckno<=608)

51. Jeollanam-do

if (blockno>=651/@and blockno<=658)

56. Jeollabuk-do

if (blockno>=501 and blockno<=514)

60. Busan Metropolitan City

if (blockno>=401 and hlockno<=413)

62. Gyeongsangnam-do

if (blockno>=531 and blockno<=534)

68. Ulsan Metropolitan City

if (blockno>=681 and blockno<=682)

Province

if (blockno>=581 and blockno<=589)

70. Daegu Metropolitan City

ify(blockno>=551 and blockno<=561)

71. Gyeongsangbuk-do

Optional: Recoding Syntax

if (blockno>=1 and blockno<=40) kr_reg=10.

if (blockno>=201 and blockno<=207) kr_reg=20.
if (blockno>=281 and blockno<=286) kr_reg=30.
if (blockno>=251 and blockno<=258) kr_reg=31.
if (blockno>=701 and blockno<=702) kr_reg=33.
if (blockno>=301 and blockno<=306) kr_reg=36.
if (blockno>=151 and blockno<=161) kr_reg=40.
if (blockno>=101 and blockno<=146) kr_reg=41.
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33. Sejong Metropolitan Autonomous

69. Jeju Special Self-Governing
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if (blockno>=631 and blockno<=636) kr_reg=50.
if (blockno>=601 and blockno<=608) kr_reg=51.
if (blockno>=651 and blockno<=658) kr_reg=56.
if (blockno>=501 and blockno<=514) kr_reg=60.
if (blockno>=401 and blockno<=413) kr_reg=62.
if (blockno>=531 and blockno<=534) kr_reg=68.
if (blockno>=681 and blockno<=682) kr_reg=69.
if (blockno>=581 and blockno<=589) kr_reg=70.
if (blockno>=551 and blockno<=561) kr_reg=71.
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SUBSCASE -Case substitution flag

National Language

English Translation

Question no. | -
and text

Codes/ -

Categories -

Interviewer -
Instruction

Translation -
Note

Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules

+ SUBSCASE

0."NAP, no substitution in this survey

2. Case from original sample

2. Case substituted

Optional: Recoding Syntax

| compute subscase=1.
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WEIGHT - Weighting factor

Please report on whether you calculate any weighting variables. If you adjust for non-
response bias, please enter the variable(s) on which the sample's distribution(s) is (are)

adjusted to the population distribution(s). Please, also report if you apply any kind of
rescaling.

Design weight to adjust

for unequal selection No [ ]
probabilities Yes [ ]
Weight to adjust for non- No [ ]
response bias
Yes [ 1 - - please specify variables used for

calculation of weight

Are the final weights No
rescaled to net sample
size (thus weighted
sample
size=unweighted
sample size)?

[ 1 - - please specify target

population represented by sum of all
case weights

Yes [ ]

Note

Construction/Recoding:

Country Variable Codes/Construction Rules * WEIGHT

1. No weighting
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MODE - Administrative mode of data-collection

Note

Construction/Recoding:

Country Variable Codes/Construction Rules

* Mode

10. F2f/PAPI, no visuals

11

11. F2f/PAPI, visuals

12. F2f/PAPI, respondent reading
questionnaire

13. F2f/PAPI, interpreter or translator
—no visuals

14. F2f/{PAPI, interpreter or translator
— visuals

20..€API, no visuals

21. CAPI, visuals

22. CAPI, respondent reading
questionnaire (paper or on monitor)

23. CAPI, interpreter or translator — no
visuals

24. CAPI, interpreter or translator —
visuals

30. SC, arrives with interviewer,
interviewer attending

31. SC, arrives with interviewer,
drops-off, picks up later

32. SC, arrives with interviewer, drops
off, mailed back by R

33. SC, mailed to, completed by R and
hold for pick up

34. SC, mailed to, mailed back by R

40. CASI, self-completion, computer-
assisted

41. Self-completion, web questionnaire

52. CAPI, phone

60. CATI, computer assisted telephone
interview
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